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//Program 2-1:

#include <iostream.h>

main ()

{

int numl , num2;

cout << " Enter two integers, and I will tell you\n"

<<" the relation ships they satisfy: ";
cin >> numl>> num2;

if (numl== num2)
cout << numl <<
if (numll= num2)
cout << numl <<
if (numl< num2)
cout << numl <<
if (numl1> hum2)
cout << numl <<
if (numl<= num?2)
cout << numl <<
<< endl;

if (numl>= num2)

is less than or equal 1o

is equal to " << num2 <« endl;
is not equal to " << num2 <« end|;
is less than " << num2 << endl;

is greater than " <« num2 «< endl;

<< num2
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cout << numl <«
num2<< endl;
return O;

}

is greater than or equal to " <<

.num2=7

Enter two integers , and T will tell you

NS The relation ships they satisfy: 3 7
3 is not equal to 7

3 is less than 7

3 is less than or equal to 7
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